A

N

pclass_1 <= 0.5
entropy = 0.935
samples = 97
value = [63, 34]
class = 0

age <= 0.5
entropy = 0.949

samples = 668
value = [422, 246]
class =0

pclass_2 <= 0.5
entropy = 0.968
samples = 86
value = [52, 34]
class = 0

i

fare <= 27.754
entropy = 0.845
samples = 22
value = [16, 6]
class=0

L

/\

fare <= 35.5
entropy = 0.998
samples = 63
value = [33, 30]
class =0

\

entropy = 0.902
samples = 22
value = [7, 15]

class =1

entropy = 0.947
samples = 41
value = [26, 15]
class =0

entropy = 0.837
samples = 15
value = [11, 4]
class =0

parch <= 0.5
entropy = 0.883
samples = 259

value = [78, 181]
class =1

L
LA

AN

/
/

sibsp <= 23.254
entropy = 0.999
samples = 133
value = [69, 64]
class =0

/

sibsp <= 8.04
entropy = 0.966
samples = 102
value = [40, 62]

class =1

\

sibsp <= 10.825
entropy = 0.999
samples = 62
value = [30, 32]
class =1

/

entropy = 0.852
samples = 18
value = [13, 5]

class =0

entropy = 0.962
samples = 44
value = [17, 27]
class =1

entropy = 1.0

samples = 4

value = [2, 2]
class=0




